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Answer all questions:

1. Which of the following is a direct effect of land degradation?

(A) Climate change (C) Ozone hole formation
(B) Groundwater pollution (D) All of these
2. Which of the following is a causative agent of acid rain?
(A) Carbon monoxide (C) Hydrogen sulphide
(B) Sulphur dioxide (D) All of these
3. Which of the following disease is an effect of water pollution?
(A) Silicosis (C) Tuberculosis
(B) Arsenicosis (D) Cancer
4. Who is known as ‘Waterman of India’?
(A) Rajendra Sing (C) Anna Hajare
(B) M.S. Swaminathan (D) Madhab Gadgil
5. The Energy flow of ecosystem is always
(A) Unidirectional (C) Irregular
(B) Multidirectional (D) Bidirectional
6. Blue baby syndrome results from:
(A) Excess of TDS (C) Excess of dissolved O,
(B) Excess of chlorides (D) Excess of nitrate
7. Biodegradable substance is:
(A) Paper (C) Plastic
(B) Detergent (D) Chemical insecticides
8. Agenda-21 was an outcome of the international conference at:
(A) Rio de Jeneiro (C) Doha
(B) Stockholm (D) Paris
9. The study of human population is called:
(A) Diversity (C) Demography
(B) Sampling (D) Community
10. Study of habitat is known as:
(A) Ecology (C) Ethology
(B) Entomology (D) Biology
11. Bhopal gas tragedy was due to leakage of:
(A) CO, (C) SO,

(B) CO (D) MIC


mailto:chemistrykbbnc@gmail.com

9

81

¢l

Y|

9l

12. Which city of the World has been tagged as ‘zero water’ or waterless city in 2018?

(A) New Delhi (C) Capetown

(B) Paris (D) Hyderabad
13. An Endangered animal of India is

(A) Asiatic lion (C) Spotted Deer

(B) Monkey (D) All of these.
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